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03 A F=XH R =ZH| 4,300 4,300 0
JAEAHALE 4,300
303 Z& 3 870 870 0
01 243 870 870 0
OAELdIdRSSREANY 870
SANHEREE2S 58,000 58,000 0
201 et 58,000 58,000 0
01 At 22l 53,000 55,000 A 2,000
Oggt=2tl 18,000
OEANHEAJAS YA AL A BN ZTFUS 18,000
O2d=%¢ 35,000
O AMAHERAZ S A= LI 35,000
03 &Ar2 Z I 5,000 3,000 2,000
OSAMAHESESREATS 5,000
CAHEEEMAZS AR (HE) 250,000 0 250,000
= 100,000
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207 A RO 250,000 0 250,000
= 100,000
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= 150,000
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= 100,000
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Xl 1,200,000
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N 1,200,000

NS g2 st 50,000 0 50,000
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HH: NABEHLEE
Sl KIHE LKA =T CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
o YA H 64,518,219 62,045,180 2,473,039
Xl 50,865,394
< 13,652,825
ANEZEHL =2 52,058,299 54,605,000 A2,546,701
Xl 50,235,394
< 1,822,905
NG LX AL F 33,511,500 41,638,000 A 8,126,500
Xl 33,285,000
< 226,500
NS/ b= ONE=| 22,480,000 37,222,000 A 14,742,000
Xl 22,480,000
403 XIS E X201 & 22,480,000 37,222,000 A 14,742,000
Xl 22,480,000
01 X SHHAN2E= 22,480,000 37,222,000 A 14,742,000
OXNSGHL AL (XSAZ) 22,480,000
X 22,480,000
NE+=esX& 6,359,000 2,077,000 4,282,000
X 6,359,000
403 A X EHHSH20IA 6,359,000 2,077,000 4,282,000
Xl 6,359,000
01 XM= E L 6,359,000 2,077,000 4,282,000
OXNS=QASXNIAM(XNEAZ) 6,359,000
Xl 6,359,000
ENHEX P2 A 4,196,000 300,000 3,896,000
Xl 4,196,000
403 XSS =0l & 4,196,000 300,000 3,896,000
Xl 4,196,000
01 X SHMA=2E X 4,196,000 300,000 3,896,000
OFSMHEEXNR2XEAML(XNSAZ) 4,196,000
Xl 4,196,000
HEXGIIBAIE XA 258,000 1,300,000 A 1,042,000
Xl 250,000
< 8,000
403 XIS E X201 E 258,000 1,300,000 A 1,042,000
Xl 250,000
< 8,000
01 XXM A2E = 258,000 1,300,000 A 1,042,000
OHEXSINAIE XA (XIS =) 258,000
X 250,000
< 8,000
KGR ALS B A= X & o st 189,500 210,000 A 20,500
201 £B-2dH| 4,500 5,000 A 500
03 AH2 I 4,500 5,000 A 500




AR AETAR SN RYESEAL
Hu: RN LEN
2 NGMELX A=A (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
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303 a2 5,000 5,000 0
01 243 5,000 5,000 0
OXNSZENLUNRALSI|2LS2JAA A 5,000
308 A EHHSOIA 180,000 200,000 A20,000
01 HXNHHNBHELS 100,000 100,000 0
20173 4SS 0tS0I10FD1 & & 3 100,000
10 B 2SUHSBAHH A 80,000 100,000 220,000
OHst 2 XNGe Y d=SEEMA22S 80,000
ANEIHLAIS 2E 3l 29,000 29,000 0
201 Let24d| 11,000 11,000 0
01 At 2teltl 11,000 11,000 0
Ogpt=2Hl 5,000
ONGHLEMSANBRNESDES 5,000
O=2g8=¢ 6,000
OXNANLEEZFAYAEN=LLOHI S 6,000
202 044l 13,200 13,200 0
01 = LH o4 1l 13,200 13,200 0
ORI SO0 AFS =8 04 HI 13,200
203 ¥ S =&l 4,800 4,800 0
03 AIF=XH 2 =AY 4,800 4,800 0
OXSHEMSE =T 4,800
PNRSR=L = b e 18,546,799 12,967,000 5,579,799
Xl 16,950,394
=) 1,596,405
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M ox
40 5 4

- _ — d =
SN P SAGEH) - HRAY - BYS e HlnE2
< 3,000
03 A2 ZHl 150,000 24,000
OMSHQANAMESYRABALS(NSE
gl) 40,000
Xl 20,000
< 20,000
o823 2 NI ESAL(XNEZH) 50,000
Xl 25,000
= 25,000
OXNGESI2)#2I (NS ) 40,000
Xl 20,000
= 20,000
OUStHAZ A AHENRIIELES (XISEHI) 20,000
Xl 10,000
< 10,000
202 044l 17,000 5,000
Xl 8,500
< 8,500
01 SLHOIYI 17,000 5,000
OWStHASI XN EEHLRFAAEN(XNSEHI) 17,000
Xl 8,500
< 8,500
206 M= Hl 20,000 10,000
Xl 10,000
< 10,000
01 M= 4l 20,000 10,000
OAMgzesiHaeRre (XNSEHl) 20,000
Xl 10,000
< 10,000
301 et a s 25,000 4,000
Xl 12,500
< 12,500
09 AL HI B A S 25,000 4,000
OZ=SCade| A INAHEA(NSSE
gl) 25,000
Xl 12,500
< 12,500
307 21201 A 365,000 15,000
Xl 182,500
< 182,500
05 RIZt2IE = 365,000 15,000
OWStHASI N EHAL 2 LEASA(KS
T Hl) 365,000
Xl 182,500
< 182,500
401 AlEHI R 2 OhYl 100,000 100,000
Xl 50,000
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N = 0l & At & Ml A

A AEEAR 2N CRESZED
HE: NacRAM
oel: DaT2aE (B9 ®R)
= - — SHE|
SA B E(BH) - NN - BYS 0l &F 24 e Hl D= 2t
=g 238,915,683 277,510,547 A 38,594,864
Xl 124,589,000
< 114,326,683
NG =z2d4 510,000 1,400,000 890,000
DEE2ES 510,000 1,400,000 890,000
AFHE D2 HLAX A 510,000 1,400,000 A890,000
308 XXIEHH SOl A 510,000 1,400,000 A 890,000
MIIEBRES3 510,000 1,400,000 A890,000
Oa8 (AN ICK SR 510,000
NECHAL SR 208,650,662 247,153,285 A 38,502,623
X 124,589,000
< 84,061,662
TEE 195,979,962 232,980,613 A 37,000,651
Xl 123,543,000
= 72,436,962
SEREAU=SNCHE 14,112,000 35,956,000 A 21,844,000
Xl 11,531,000
= 2,581,000
401 AIEHI L 20 14,112,000 35,956,000 A 21,844,000
Xl 11,531,000
< 2,581,000
01 A& HI 13,911,000 35,286,000 A 21,375,000
OSYRAHAASNEAHE(RNESY) 13,911,000
X 11,350,000
< 2,561,000
02 Zeltl 181,000 650,000 A 469,000
OSERHAUA=ZXN AL 2H(ANSESY) 181,000
Xl 181,000
03 Al 20 HI 20,000 20,000 0
OSE2AAINEHEANEL2UHE(NSEY) 20,000
SOt =X E A H 33,367,000 22,489,000 10,878,000
Xl 28,500,000
< 4,867,000
401 Al&HI & 28I 33,367,000 22,489,000 10,878,000
Xl 28,500,000
< 4,867,000
01 A& HI 32,677,000 21,969,000 10,708,000
ORNMA=XNEHE(NESY) 32,677,000
Xl 27,810,000
< 4,867,000
02 Zeltl 650,000 500,000 150,000
ORI RN AL 2lH(NESY) 650,000
Xl 650,000




A ALE A= A E2EE3E
Hu: gcALEDE
Sl XY EEE CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
03 AIE 2 0HHI 40,000 20,000 20,000
ONZBHMAIXNEHEANLERUH (NSSY) 40,000
Xl 40,000
ST HL 5,143,000 6,000,000 A 857,000
Xl 4,620,000
< 523,000
401 Al B2 28I 5,143,000 6,000,000 A 857,000
Xl 4,620,000
< 523,000
01 A& HI 4,824,000 5,690,000 A 866,000
Os2dMAAIXNEHAE (RNESY) 4,824,000
Xl 4,311,000
< 513,000
02 Zeldl 309,000 300,000 9,000
OsgagdaxcAd2elb(ASEY) 309,000
Xl 309,000
03 A& =2 THHI 10,000 10,000 0
OsLdMAAI RN HHEALEL2UE(NSSY) 10,000
SELFEZAE 16,717,000 33,333,000 A 16,616,000
Xl 15,000,000
< 1,717,000
401 AIEHIZ 28I 16,717,000 33,333,000 216,616,000
X 15,000,000
< 1,717,000
01 A& tl 16,187,000 32,813,000 A 16,626,000
O2ELFE22XNEHE(NESY) 16,187,000
Xl 14,470,000
= 1,717,000
02 Zeltl 500,000 500,000 0
O28dFxc22ANEAHLE2Z2B(NSESY) 500,000
Xl 500,000
03 Al =20 HI 30,000 20,000 10,000
OSELFC2RNEHEANERUL(NESY) 30,000
X 30,000
DM AIXNEHL 6,323,000 9,489,000 A 3,166,000
Xl 5,684,000
< 639,000
401 Al& I 28I 6,323,000 9,489,000 A 3,166,000
Xl 5,684,000
< 639,000
01 A& HI 6,029,000 8,974,000 A 2,945,000
OGN AIXNEHE(RNSESY) 6,029,000
Xl 5,397,000
< 632,000
02 Zeldl 283,000 500,000 A 217,000




A ALE A= A E2EE3E
Hu: gcALEDE
Sl XY EEE CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
ODnBMNE2A=XN AL 2eB(ANSESY) 283,000
Xl 283,000
03 A& =2 THHI 11,000 15,000 A 4,000
OGN AIRNEHHEANERUH(NSSY) 11,000
Xl 4,000
= 7,000
ZwdN=XNEHE 9,202,000 22,889,000 A 13,687,000
Xl 8,275,000
< 927,000
401 Al HI 2 28I 9,202,000 22,889,000 A 13,687,000
X 8,275,000
< 927,000
01 A& HI 9,030,000 22,574,000 A 13,544,000
OZXDLNAIXNEHE(ANESY) 9,030,000
Xl 8,111,000
< 919,000
02 Zeltl 158,000 300,000 A 142,000
OZXngdnNAIN A28 (ANESY) 158,000
Xl 158,000
03 Al =20 HI 14,000 15,000 A 1,000
OZwAdNA2XNEHHEANLEL2UH(ANSSY) 14,000
Xl 6,000
< 8,000
FE2EHEHHL 8,889,000 11,111,000 A 2,222,000
Xl 8,000,000
< 889,000
401 Al Bl 2B 8,889,000 11,111,000 A 2,222,000
Xl 8,000,000
< 889,000
01 A& HI 8,479,000 10,791,000 A 2,312,000
OFC2RHEAL(NSEEY) 8,479,000
Xl 7,590,000
< 889,000
02 Zeltl 400,000 300,000 100,000
O 22HEHE 22U (RNSEEY) 400,000
Xl 400,000
03 A& =TI 10,000 20,000 210,000
OFC22HEHLEANERUH(NESY) 10,000
Xl 10,000
MRS 10,000,000 8,667,000 1,333,000
X 9,000,000
< 1,000,000
401 AIEHIZ 28I 10,000,000 8,667,000 1,333,000
Xl 9,000,000
< 1,000,000




AZ: AMZAR SN CRIECTEY
Hu: gcALEDE
Sl XY EEE CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 A& HI 9,780,000 8,557,000 1,223,000
OSHMEAAIXNZNB(RNSSY) 9,780,000
Xl 8,780,000
< 1,000,000
02 2eltl 200,000 100,000 100,000
ORI XN Ll (ANSESY) 200,000
Xl 200,000
03 A& S THHI 20,000 10,000 10,000
OSMEAAITNCHZAIERUHEN(NSS L) 20,000
Xl 20,000
SSELFC=NE 22,476,000 19,211,000 3,265,000
Xl 15,733,000
< 6,743,000
401 AIEHI L 2 CHYI 22,476,000 19,211,000 3,265,000
Xl 15,733,000
< 6,743,000
01 A& HI 22,146,000 18,891,000 3,255,000
O2E8dFE 2N (NEFY) 22,146,000
Xl 15,403,000
< 6,743,000
02 Zeltl 300,000 300,000 0
Ossgd=c2Hegdelt(RNsEsY) 300,000
Xl 300,000
03 Al S HHI 30,000 20,000 10,000
O2ELFTZ2MHAERUB(NESY) 30,000
X 30,000
SMHE=2EEH)IRNENE 2,857,000 5,286,000 A 2,429,000
X 2,000,000
< 857,000
401 Al HI K 201 2,857,000 5,286,000 A2,429,000
X 2,000,000
< 857,000
01 A& tI 2,547,000 5,176,000 A 2,629,000
OFHES-ZH)IXNE=NE(RNSSY) 2,547,000
Xl 1,690,000
< 857,000
02 2teltl 300,000 100,000 200,000
OsH(E=2~-FF)I N2l (NEEY) 300,000
X 300,000
03 Al 2 THHI 10,000 10,000 0
OFSMMES~Z2E)2NCHBANELULI(NES
2h) 10,000
X 10,000
SO A=RNENE 12,143,000 643,000 11,500,000
Xl 5,000,000




AZ: AMZAR SN CRIECTEY
Hu: gcALEDE
Sl XY EEE CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 7,143,000
401 A& HIZ 201 I 12,143,000 643,000 11,500,000
X 5,000,000
< 7,143,000
01 A& HI 12,033,000 643,000 11,390,000
Oa2FEoAINEHB(NESLY) 12,033,000
Xl 4,890,000
< 7,143,000
02 Zeltl 100,000 0 100,000
OAdEI2A 2N S ZelB(ANSESY) 100,000
Xl 100,000
03 AIE S THHI 10,000 0 10,000
OAHEOIAI NS HBAIERUEN(NSES L) 10,000
Xl 10,000
SHAAUSNECHE 14,386,000 6,906,000 7,480,000
Xl 10,000,000
< 4,386,000
401 AIEHI L 2 CHYI 14,386,000 6,906,000 7,480,000
Xl 10,000,000
< 4,386,000
01 A& HI 14,166,000 6,586,000 7,580,000
OSsHaAAINEAL(NSESY) 14,166,000
Xl 9,780,000
= 4,386,000
02 Zteltl 200,000 300,000 A 100,000
OSAadAIXNEAE 2Ll (NSEEY) 200,000
Xl 200,000
03 Al 2 THHI 20,000 20,000 0
OSHAJAIXNESAHLSANEL2UHE(NSEY) 20,000
Xl 20,000
Zaots(1-2)2 NN 286,000 0 286,000
Xl 200,000
< 86,000
401 Al HI R 201 I 286,000 0 286,000
Xl 200,000
< 86,000
01 A& HI 286,000 0 286,000
OZAS(1-2)2XNEH(NESL) 286,000
Xl 200,000
< 86,000
NgeAl 38,101,700 49,030,700 A 10,929,000
201 Let24E] 9,000 0 9,000
02 =224l 9,000 0 9,000
O03322 LA A 9,000




AZ: AMZAR SN CRIECTEY
M NYCHLHTR
Sl XY EEE CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OL2USEAIR2IHIRE S 9,000
202 044l 26,400 26,400 0
01 = LH 4 1l 26,400 26,400 0
OXNgEALE =T AL 26,400
203 YR =&l 4,300 4,300 0
03 AIEZ=AH 2 =AH| 4,300 4,300 0
OXNgeg2Fd 4,300
401 Al HIZ 201 Y] 38,062,000 49,000,000 A 10,938,000
01 A& HI 36,822,000 47,600,000 A 10,778,000
OXNg A 36,822,000
02 Zeltl 1,050,000 1,200,000 A 150,000
OXNgS A 22l 1,050,000
03 Al S THHI 190,000 200,000 A 10,000
OXg S ALS AlE 2O 190,000
ALEo=EXN2H 304,000 304,000 0
202 044l 4,000 4,000 0
01 SLHOYI 4,000 4,000 0
Ool2E X2 & Xel ol 4,000
401 Al HI K 201 I 300,000 300,000 0
01 A& Bl 300,000 300,000 0
OXNgE0 =8N 300,000
CERUSEXA 83,262 75,913 7,349
101 @124 dl 83,262 75,913 7,349
04 JIZHHZ2XREES 83,262 75,913 7,349
OnsEax AL
51,7603 252X & 2«31 T 78,262
CI5hAtE 28 5,000
ANLYE=Z2 A EX 1,380,000 1,380,000 0
308 XXM SOIA 1,380,000 1,380,000 0
01 AXHHBSEES 1,380,000 1,380,000 0
OXNgEe+2 04| 1,380,000
CFET R 210,000 210,000 0
308 XXIEHHSOIA 210,000 210,000 0
02 3uS3 210,000 210,000 0
OEZ2EEZEsURS 210,000
== A 11,274,300 8,227,800 3,046,500
FU=SJAAS FHZH 4,800 4,800 0
203 ¥ S =&l 4,800 4,800 0




AZ: AMZAR SN CREEZED
M NYCHLHTR
Sl FRISAAY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
03 A F=XH R =ZH| 4,800 4,800 0
OXNSSEA T2 AGFA 4,800
FU=SATZ2AY 11,269,500 8,223,000 3,046,500
403 MtXISHHE X201 & 11,269,500 8,223,000 3,046,500
01 AXISHH A2 E= 11,269,500 8,223,000 3,046,500
OS2 At 11,269,500
XNYBSESSAYEE 350,400 799,872 449,472
AN Ser e dstAte 350,400 799,872 AN449 472
201 Let24d] 43,000 245,000 A 202,000
01 At 2+l 43,000 245,000 ~202,000
Opt=2H] 41,000
OZeFUAHAESE 35,000
OAUSHREIMRAUS 3,000
OMNREZSLAZHLESS U 2,000
OV ML EMVE AU S 1,000
E=3=q:] 2,000
O3S0 RFASAH| 2,000
202 (44l 4,400 1,872 2,528
01 ZU0d b 4,400 1,872 2,528
OXNgSSEdstPRFA0H 4,400
301 YA 3,000 3,000 0
09 SALAHIEA S 3,000 3,000 0
OXNgSS2HBANSEHE I 3,000
308 XXM SOIA 300,000 400,000 A 100,000
01 AXHHILEES 300,000 300,000 0
OZgIe2dsti# 300,000
CRDSATI LAY 1,046,000 5,145,000 4,099,000
X 1,046,000
A2 AT H 516,000 3,150,000 A 2,634,000
Xl 516,000
403 XIS E X201 & 516,000 3,150,000 A 2,634,000
Xl 516,000
01 X SHHXN2E = 516,000 3,150,000 2,634,000
OREER2ZNE(ANEEY) 516,000
Xl 516,000
HsSMIZSRINd 220,000 398,000 A 178,000
X 220,000
403 MHXSHHSA=0l& 220,000 398,000 A 178,000
X 220,000
01 HXSHMA2E X 220,000 398,000 A 178,000




HAE T A= M E2EE3E L
PR= e bR
CE2NSOHEINHE ALY (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
OLSEMIF2RNE(NSSY) 220,000
Xl 220,000
EIRSEMPN IR~ 140,000 0 140,000
Xl 140,000
403 MtXISHHE X201 E 140,000 0 140,000
Xl 140,000
01 XM A2 X 140,000 0 140,000
OsdUNEHEIN(NESTY) 140,000
Xl 140,000
HElolEs YA 170,000 697,000 A 527,000
Xl 170,000
403 A X EHS =0l A 170,000 697,000 A 527,000
Xl 170,000
01 X HHMA=E L 170,000 697,000 A 527,000
Ol Es Y (RISEY) 170,000
X 170,000
S Z2AE2e 56,000 0 56,000
SZANESEHI 56,000 0 56,000
EZ2F A2 56,000 0 56,000
201 Let24dH] 56,000 0 56,000
01 At 22/l 56,000 0 56,000
Ogst=2tl 56,000
OzNsSsSFUEE 21,000
OE&FFRS0CEE 35,000
ZdAFCES 5,686,000 5,400,000 286,000
ZdAFCAHL 5,686,000 5,400,000 286,000
ZHE T ALY 5,686,000 5,400,000 286,000
207 Ao 100,000 0 100,000
01 289 100,000 0 100,000
OEEFHEZYAN LA ES 100,000
308 XX EHSOIA 4,386,000 4,200,000 186,000
07 AXSGM2ARES 4,386,000 4,200,000 186,000
OUHPSANEE1SHILHAFALERE 4,386,000
403 MtXISHHE X201 & 1,200,000 1,200,000 0
02 SO 2SH S E2X HE AL B 1,200,000 1,200,000 0
OWFZ2AANMFLAF (R0~ L) 1,200,000
HYRIZH (T2 HEE3E D) 85,521 87,262 A1,741
=2l 85,521 87,262 A1, 741
JlE2zl 85,521 87,262 AT, 74




AR ALSAIZ SN EREEZRYD
Ha: YHSAYU(ZRESID)
9l Il

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
201 Bt A | 48,321 50,054 N 1,733
01 AP 2t 2l Yl 43,321 45,054 AN 1,733

Odget=g| 26,841
OFRAN2INRTESEST LS 26,841
O3l 16,480
OXNLERA 2L ER=RS AL 16,480
03 At L | 5,000 5,000 0
OfgAgdadaA2qas 5,000
202 04| 37,200 37,208 A8
01 2LHOHI 37,200 37,208 A8
OJEE2c38ggRa 0l 37,200
Hess(E2E2c2s) 23,927,500 23,470,000 457,500
WEHAN XK= 23,927,500 23,470,000 457,500
Xl & XH & & 23,927,500 23,470,000 457,500
705 Q=232 2 4AE 23,927,500 23,470,000 457,500
03 Al - EXYHED IS0 2 4 15,500,000 15,500,000 0
OX g A (064) 4,000,000
OXeE A (07H) 4,000,000
O20MX XSS A (094) 5,000,000
OXegE A (10H) 2,500,000
04 Al - SXEIHLD 20 =20 XHAHE 8,427,500 7,970,000 457,500
OX eSS A (06H) 700,000
OXegE A (07H) 840,000
O20MX X2 A (094) 175,000
OX e AFE (104) 787,500
OXeE A (12H) 875,000
OYMA0IERA 2L 2 AH(12E) 525,000
OXeE A (13W) 1,050,000
O=JN SRS A (13Y) 875,000
ORI A (15E) 1,600,000
OXgZ ALY (161) 1,000,000




Al A

=

o,
=

Ol &b A

Al

X0
Kq

RO o
w <
RN
K &0
o) 0
&I K
Bl

&l OF

< RO T

<

n0

Kio

Hl w

A23,983, 127

A 23,958,467

ATT,985

N 20,585

2,025
2,025

A610
A610

A 6,000

A 1,000
A 1,000

A5,000
25,000

A 51,400
A 1,400
A 1,400

250,000
/50,000

A 357,840

H3r
Wikd
RIS
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= o
A & 0l & AF 2 E A A
A= AEZ A= fAM otE
Ha: otE UL BE
ool AEHAHGHTY FA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
ot & ot 153,159,719 165,571,159 A2,411,440
= 103,977,000
< 49,182,719
Ot Y =Xt 2tel 139,919,300 141,753,000 A 1,833,700
= 95,977,000
< 43,942,300
HEBHGAFHH =& 130,442,300 128,353,000 2,089,300
= 86,500,000
< 43,942,300
SHE THOH Ol L AL (R F) 46,201,000 39,628,000 6,573,000
= 26,321,000
< 19,880,000
401 AIEHI L 2 CHYI 46,201,000 39,628,000 6,573,000
= 26,321,000
= 19,880,000
01 A& HI 44,685,000 39,242,000 5,443,000
[JGH& TH off i 2 AF S 44,685,000
= 25,449,000
=) 19,236,000
02 Zeltl 1,350,000 250,000 1,100,000
(I OF& TH o Ofl 24 At 1,350,000
= 775,000
< 575,000
03 AlE =2 THHI 166,000 136,000 30,000
[JGH& TH o Ol 2 AF S 166,000
= 97,000
< 69,000
Sh & THoH Ol 2 AL (KT &) 34,208,000 25,643,000 8,565,000
= 25,956,000
< 8,252,000
403 X SHHSA=0l& 34,208,000 25,643,000 8,565,000
= 25,956,000
< 8,252,000
01 X SHMA=E X 34,208,000 25,643,000 8,565,000
[ ok & THoH Ol 2 AL 34,208,000
= 25,956,000
< 8,252,000
DEoUAY(HE) 8,500,000 4,000,000 4,500,000
= 5,100,000
=) 3,400,000
401 Al HIZ 2018 8,500,000 4,000,000 4,500,000
= 5,100,000
=) 3,400,000
01 A& HI 8,100,000 3,750,000 4,350,000
DDA 8,100,000




A ALE A= fAM otE
M ot Y =NHE 2
ool AEHAHGHTY FA (B9 ®R)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
= 4,860,000
< 3,240,000
02 Zeltl 390,000 240,000 150,000
O ALY 390,000
= 234,000
< 156,000
03 Al S THHI 10,000 10,000 0
DDA 10,000
= 6,000
< 4,000
DEOI AN (X&) 25,588,000 34,344,000 A8,756,000
= 21,323,000
< 4,265,000
403 XA SA=0l& 25,588,000 34,344,000 28,756,000
= 21,323,000
< 4,265,000
01 XM A2E X 25,588,000 34,344,000 A 8,756,000
ODNe LAY 25,588,000
= 21,323,000
= 4,265,000
SEBELHTATHAY(RE) 7,000,000 7,500,000 500,000
= 4,200,000
< 2,800,000
401 Al HI L2 THHI 7,000,000 7,500,000 A500,000
2 4,200,000
< 2,800,000
01 A& HI 6,590,000 7,250,000 A 660,000
EscstdsBHEAZEAMS 6,590,000
= 3,954,000
< 2,636,000
02 Zeldl 400,000 240,000 160,000
OSc=sEHTAZEAY 400,000
= 240,000
< 160,000
03 Al S THHI 10,000 10,000 0
OscstgdsHEAZEAMY 10,000
= 6,000
< 4,000
SEHELHTATLAS(XY) 4,320,000 4,320,000 0
2 3,600,000
< 720,000
403 A X EHHSH20lA 4,320,000 4,320,000 0
= 3,600,000
< 720,000
01 X ESHHMA=LE L 4,320,000 4,320,000 0
OscsadsBHTAZEAMd 4,320,000




AR ALTAIR FA o oHE D
HE: tEYSNABE
ool AEHAHGHTY FA (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 3,600,000
= 720,000
SHEHE R 4,625,300 6,026,000 A 1,400,700
202 O4dl 14,500 15,200 A700
01 = LH 4 di 14,500 15,200 AT700
OctEa A& PR =8 0 14,500
203 YR =&l 4,800 4,800 0
03 A FXH R =ZH| 4,800 4,800 0
ot 2te| g =2 4,800
401 AIEHI L 2] 4,606,000 6,006,000 A 1,400,000
01 A& Hl 4,600,000 6,000,000 A 1,400,000
Dot 2H =8 4,600,000
03 AlE S THHI 6,000 6,000 0
OctEII2H & =8 A Z 20 6,000
=Ral= 9,477,000 13,400,000 23,923,000
= 9,477,000
A2nEgHd 6,300,000 8,300,000 22,000,000
= 6,300,000
403 MtXISHHE X201 H 6,300,000 8,300,000 A 2,000,000
=2 6,300,000
01 AXSHMA=2E X 6,300,000 8,300,000 22,000,000
E==g=ig=Ral- 6,300,000
2 6,300,000
ARSYAL () 3,177,000 5,100,000 1,923,000
= 3,177,000
403 A X EHHS =0l A 3,177,000 5,100,000 A 1,923,000
= 3,177,000
01 X HHMA=LE L 3,177,000 5,100,000 A 1,923,000
Oooegad 3,177,000
= 3,177,000
SHEMESZUES 90,800 105,800 A 15,000
SHEAMTESES 90,800 105,800 A 15,000
SHEAE SEEZZ S 90,800 105,800 A 15,000
201 Let24dH] 55,000 55,000 0
01 At 22l 55,000 55,000 0
Ogst=2tl 55,000
OctEMITEENESROUS 5,000
OotE M =& 50,000
202 Odl 800 800 0
01 = LH 4 di 800 800 0




A= AEZ A= fAM otE
M otEAMESZUHZHE
Sl SIEAYSER (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OctEAIE 220t 800
308 XXM SOIA 35,000 50,000 A 15,000
01 AXHHIYEES 35,000 50,000 A 15,000
Odsd=2sge 35,000
St RNEF=FA 11,623,100 12,033,400 A 410,300
= 8,000,000
< 3,623,100
StE EHIF& 11,623,100 12,033,400 A 410,300
= 8,000,000
< 3,623,100
SHE ZHIAY =& 3,623,100 3,233,400 389,700
201 2et24d] 3,500 3,500 0
01 At 22l 3,500 3,500 0
Opt=2Hl 3,500
Ot EHHIAIL 2B NRRS 3,500
202 044l 9,600 9,900 A 300
01 = LH o4 1l 9,600 9,900 A 300
LJotE EHIAH =& O Bl 9,600
401 AIEHIZL 20HEI 900,000 400,000 500,000
01 A& HI 900,000 400,000 500,000
OXgotd2g &l 900,000
403 MtXISHHS =0l & 2,710,000 2,820,000 A 110,000
01 XM A2E X 2,710,000 2,820,000 A 110,000
OJId Mg &AL 300,000
[JYEIGHE I E = ALY 2,110,000
OXgotd-2 3L EH ALY 300,000
ZStE S A2 At 8,000,000 8,800,000 A 800,000
= 8,000,000
403 MHtXISHHE X201 & 8,000,000 8,800,000 A 800,000
= 8,000,000
01 X SHHA2E = 8,000,000 8,800,000 A 800,000
O=0totd F X 2= At 8,000,000
= 8,000,000
HY2HZH (ot& 1) 88,519 90, 159 A 1,640
Jl=Zdl 88,519 90, 159 A 1,640
Jl= &l 88,519 90, 159 A 1,640
201 et 71,719 72,559 A B840
01 At 22l 71,719 72,559 A 840
pt=2Hl 58,279
OFANERAAMNEES LS 58,279




AR ALTAIR FA o oHE D
HE: HY2IFY (GHED])
chelr D123l ool E )
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
mE=3=q:] 13,440
Octd Y Mol 2el P RH &2 R A= &l 13,440
202 O4dl 16,800 17,600 A 800
01 = LHA YI 16,800 17,600 A 800
OASXNERFE0HI 16,800
= (ot& ) ,438,000 1,480,000 A 42,000
SHAN K= ,438,000 1,480,000 A 42,000
= OH Il ol = 7 (Kl 2 IH &k &) ,438,000 1,480,000 A 42,000
705 ==&l 34 ,438,000 1,480,000 A 42,000
03 Al - EXGHED I SH =23 4 ,200,000 1,200,000 0
O==oH&SXNEASE ('06XRISIHLEIS) 400,000
Ol ASXMEAS (07X HSHEIN2) 800,000
04 Al - EXISOHED| 3 0l === 0| Xk & 238,000 280,000 A 42,000
Ol ASXIHLAS (06K HHEI2) 70,000
Ol ASXMHLAS (07X HHEINS2) 168,000
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AT ALTAIR SN BEALALL
g Ngcasd R 2
& XNgEFX 2t (&)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2

203 YR =&l 4,800 4,800 0

03 Al F=XH R =AH| 4,800 4,800 0
OXgEs X el Al =2 4,800

206 M= Hl 30,000 30,000 0

01 MHZ 4l 30,000 30,000 0
OMegxgdsdstzZs2 30,000

303 &3 6,000 7,000 A 1,000

01 &= 6,000 7,000 A 1,000
OXHAHol SSAL XA st 6,000

305 HHal= s 20,000 20,000 0

01 Hia=S 20,000 20,000 0
OAdBHZEMS 20,000

401 AIEHI L 201 6,160,000 7,700,000 A 1,540,000

01 A& HI 6,118,000 7,637,000 A 1,519,000
OXgEFm X2l AL Al &I 6,118,000

03 AlE 2 THHI 42,000 63,000 A21,000
OXNEEFXN22IAISAE R 42,000

405 RHoHE S HI 3,700 1,000 2,700

01 AL ESH SH 3,000 0 3,000
O2=d A (10ps*1CH) 3,000

02 T A 700 1,000 A 300
OHEIANLNENRNRENE 700

T ZotA zte] 300,000 300,000 0

401 A& HIZ 201 Y] 300,000 300,000 0

01 A& HI 297,000 297,000 0
Oz otd e AL Al & I 297,000

03 A2 2 0HHI 3,000 3,000 0
OEZotM 2te| AFH Al RO HI 3,000

HETEEHS 86,300 88,127 A1,827

201 £B-2dH| 9,000 8,827 173

01 At 22l 5,000 4,827 173
O Yet==2H| 2,000
OWMXHESE = F | 2,000
o=l 3,000
OH=QP I SH Lo EH=E(0r) I =t 3,000

02 =24l 4,000 4,000 0
OAE EHI KXY 4,000
O0lsSAEsIINEIAAES 2,000
O0lsA==JI=+=2ld| 2,000




AT ALTAIR SN BRALMLL
HE: NYCHEUSN e
@2 NYgEsA 22 (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
202 (4] 26,800 28,800 A 2,000
01 2L Y] 26,800 28,800 A 2,000
O SHEAR2 =X Y| 26,800
401 Al HI L £ 0HHI 50,500 50,500 0
01 A& HI 50,000 50,000 0
[0 &2a X st & X & & X| H 50,000
03 A& 20 Y| 500 500 0
O2& Mt E XA X AE 28I 500
T Z2HEN LG 50,000 50,000 0
401 Al HI YL 2 0HHI 50,000 50,000 0
01 A& HI 49,000 49,000 0
O &S ASHAIS Al & I 49,000
03 A& 20 b 1,000 1,000 0
OS2 HENASIAIS Al A 200 HI 1,000
W - BEaLotA 22| 5,851,500 7,017,500 A 1,166,000
N 3,444,000
T 2,407,500
) ORI AL 3,480,000 4,170,000 A 690,000
N 3,444,000
T 36,000
401 Al B 20 HI 3,480,000 4,170,000 A 690,000
A 3,444,000
T 36,000
01 A& HI 3,444,000 4,130,000 A 686,000
W SO0 A AFE Al & HI 3,444,000
S 3,444,000
03 Al& 201l 36,000 40,000 A4,000
W SR X AL Al & 2 CH B 36,000
RDY24 - BAALY 1,375,500 1,717,500 £342,000
201 LEt2 Y| 900 900 0
01 AR 22| I 900 900 0
O o=yl 900
OnsEELEAAIH =X 2 900
202 04| 14,600 16,600 A 2,000
01 2LHOHI 14,600 16,600 A 2,000
OS82 A FE 0L 14,600
401 Al B 2 0HHI 1,360,000 1,700,000 340,000
01 A& HI 1,346,000 1,683,000 A 337,000
OnsEE4=22AE Al & H] 1,346,000
03 AlE 201 YI 14,000 17,000 A 3,000




AR AMCAR SR E
M Ngeetsd K2t
Selr DN BAUEL CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| DR AL AIE 20| 14,000
UM 200,000 200,000 0
401 A& HIZ 2018 200,000 200,000 0
01 A& HI 198,000 198,000 0
OugddotM A A& 198,000
03 Al 2 THHI 2,000 2,000 0
OnEdUUMAAI LRI 2,000
ngdUEH 640,000 750,000 A 110,000
401 Al HIZ 201 Y] 640,000 750,000 A 110,000
01 A& HI 635,000 743,000 A 108,000
OneEdLFZ AL 635,000
03 Al S THHI 5,000 7,000 22,000
DOngdddEHAAILR0U 5,000
S d Nt E X A& 40,000 60,000 220,000
TAIEHI 20 40,000 60,000 220,000
1T A& HI 39,000 59,000 A20,000
OS& e EX e A XAl 39,000
03 Al S THHI 1,000 1,000 0
OSdMeEX LI AL 20U 1,000
HERIE=> 116,000 120,000 A4,000
401 AIEHI L 20 116,000 120,000 A 4,000
01 A& HI 115,000 119,000 A 4,000
OHERXE=AI&H 115,000
03 AlE SR THHI 1,000 1,000 0
OHESXNE=AL20Y| 1,000
ANEA2H 62,124 61,396 728
SEANEHF 62,124 61,396 728
101 124 dl 8,764 8,036 728
4 D12t Z2XREE+ 8,764 8,036 728
OJHAESEANE LR 51,7603 x1& 150 7,764
O5CHALS 2 1,000
201 ¢er24| 30,700 30,700 0
01 At 2t 2l 10,700 10,700 0
Oger==&H| 8,900
Os=2=48ENRAUS 2,200
OZEEIJLSEAMNIEHSE 1,700
OEZAMEI T A A 2,500
OKSHZ == 500




M ox
40 5 4

N
x
o
el
e

nx

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OHJIZSHeldl & 2,000
O o=l 1,800
OAgadxg=sY 1,500
OAgaxdsl2g 300
02 =224l 20,000 20,000 0
Al & ZHl s Xl 20,000
OFEAMEI A AU (sHESAED]) 20,000
202 04l 14,500 14,500 0
01 = LH 4 Hi 14,500 14,500 0
OSEANEERFE0HI 14,500
207 R4 2l 8,160 8,160 0
03 Al & 1 HI 8,160 8,160 0
OANESIXMEIN 727 8,160
OmNAABOHS 1,000
OHEFEM 1,400
ONEEEZ 1,200
Os2EANS 1,560
ONBAZTLAMES 3,000
At Xl 2tel 56,800 139,740 A 82,940
ANEEssX2e] 56,800 139,740 A 82,940
201 et | 25,000 96,000 AT1,000
02 2324l 25,000 46,000 A21,000
ozl 15,000
OFMHESAHAZHI 15,000
OAE EHI R XY 10,000
OHEHIBSANERmI 22/l 10,000
204 AR A H| 31,800 33,000 A 1,200
03 EZYRFHI 31,800 33,000 A 1,200
OUeresy (gers) 50,0003 53 128 31,800
HUHSIAH (BHALAL L) 4,391,599 4,246,348 145,251
el 2| 3,834,696 3,695,865 138,831
olg eyl 3,834,696 3,695,865 138,831
101 124 dl 3,732,876 3,581,925 150,951
01 22 3,366,444 3,218,294 148,150
s 2,520,959
o EH 371,875
-4s 81,859,000& »1H 81,859
- 52 72,504,000& x4 H 290,016
OssEH 1,927,831




AZ: AMZAR SN BRALMLL
HM: HYS2HAAH (B AHLAMY D)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS 0 AF o ﬁlf& HD=2
-2 (245 E2) 3,610,900 x15H x12& 649,962
-72 (208 2) 3,095,900 »22H x12& 817,318
-82 (138 E) 2,398,700 x16H ~12& 460,551
(OFSF=r=; 221,253
-d8Z24% 1,927,830,000& *1/12%50%*23] 160,653
RS = I P =] 60,600
254 0] & 130,000& x21H = 12& 32,760
- 208 0l A 25 012 110,000 x5H «12& 6,600
- 153 01 420 018 80,000& «11¥ x12& 10,560
- 108 0 &H15E 0] 2F 60,000& x9H x 128 6,480
- 5E 0l AH104 0] B¢ 50,000 x7H x12& 4,200
O 457,840
oMY 32,616
-HeBRALY 32,616
420
72,504,002 * 1/ 12x78%+4. %42 « 122 9,275
- 52U R 3,610,900& x4 . 1%*6H x12& 10,660
62U 2 3,095,900& x4 . 1%*x6H x12& 9,140
72U 2,398,700& x4 . 1%*3H x12& 3,541
OJHEBEE S 83,144
-IEsY 45,600
bl < X+ 40,000 x50 x12& 24,000
- JIEHDFS 20,000& x70H x12& 16,800
JHAE2 30,000& x8H x12& 2,880
DIFSE=C ) (DIED] 80,000& x2H x12& 1,920
- XMHESHHI B xS 19,544
NSsH 488,600 109 *43| 19,544
-FE0EE Y 500,000 *3H x12& 18,000
OS2 22Y 34,560
-RE2RESY 3,000
= 50,000& x5 x12& 3,000
-EFYURAYOIsdEsY) 31,560
52 0] &t 50,000 x4H x12& 2,400
- 6,732 30,000& x32H x12& 11,520
8= 0l ot 20,000& *15H x12& 3,600
JHAE2 (DAL IS H)
30,000& x25H x12& 9,000
A2 (A IIAF) 20,0008 15 x12€ 3,600
A2 (2E6~72) 10,0002 x3H x128 360
A2 (2E8~92) 20,0002 2 x12& 480
DA 2(3H0I4) 50,0008 x12«12& 600
OxzU2R+HS 305,720




AT ALTAIR SN BRALMLL
HM: HYS2HAAH (B AHLAMY D)
Sel: o2y (B9 ®R)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
SN2 2ReY 305,720
PARSLEC 10,6822 *10A| 2tx53H x 122 67,938
-2 E 10,682& *35A| 2t*x53H x 12& 237,782
ORYHSRIAY 50,000& *3G x12& 1,800
OFHZAH 130, 000& x58H x12& 90,480
OY&E F Oty 1,927,830,000& *1/12%x60%*23] 192,783
OS2 At
2,299,705,000& *1/12%86%+*1/30* 19 104,382
03 I HLZ2ZZAHE 366,432 363,631 2,801
OE2E4+3 197,152
oJN=3 1,612,4103 x5H »12& 96,745
oan=2 1,612,410& x400%*5H 32,249
OdR£=E 1,612,410& /209%8+5% x25 7,715
o254 5,712
- 10E 0] & 139,000& = 12& x2H 3,336
- 1048 0| 66,000 x12& x»3H 2,376
Ol =t 150, 000& *5H x23] 1,500
OO Hl 32,400
o222
1,612,410 /209%8*1.5x5% x20! 9,258
OAZtA222<
1,612,410& /209%1.5%4 A| 2t x5 x50 11,573
OESANEEXTIIS 107,590
oJN=3 1,392,760& x4H »12& 66,853
oan=2 66,853,000 *1/12%400% 22,285
O| Xt 1,392,760& /209*8*4H 252 5,332
oz2s52=4¢ 4,620
- 10 0] & 125,000& =»2H x12& 3,000
- 1048 0| 8F 67,500 x12& x2H 1,620
(@)1l 8,500
Oxs=g 5,520
Ol 2 X+ 40,000 x5H x12& 2,400
OJIEIS 20,0003 *11H 122 2,640
OJarZ2 (MM ) 20,000 x2H x12& 480
OwsS 8 x| 60,000 *9H x12& 6,480
OY&E S| 700,000& x9H 23] 12,600
OFHZ A 130,000 x9H x 12& 14,040
OFAMAXZHELAS Y] 250,000& x1H 43| 1,000
Ob5thAta 2 E 22,050
204 &2 = A H| 101,820 113,940 AN12,120
02 A28 x| 101,820 104,340 N2,520
042 400,000& x1H =12 4,800




i
< &0 30
LA 06 o1
RO A
) ®0 o)

M & oF
< RO T

<

n0

Kio

Hl w

6,420
6,420
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